ITEM 4 ATTACHMENT B

ITEM			ESTIMATED	U	NIT	ANNUAL	Т	ANNUAL
NO.	DESCRIPTION	UNIT	QUANTITY		RICE	FREQUENCY		AMOUNT
GENEI	RAL MAINTENANCE							
	Facility inspection by Contractor's supervisor or account manager, visual /							
1	operational.	LS	Ţ	\$	63.73	26	\$	1,657.00
2	Walk through inspection with City representative and owner or account manager.	LS	1	\$	85.00	12	\$	1,020.00
	Litter removal of paved sidewalks, walkways, undeveloped shoulders and parkways, medians, pathways, and curb and gutter cleanup, debris removal, weed control, and trash-litter removal.							
3		100 SF	2,022	\$	0.10	40	\$	7,910.00
4	Doggy Dispenser Service and Trash Can Service (Locations).	LS	5	\$	2.40	104	\$	1,250.00
5	Litter, mulching (as needed), weeding.	100 SF	4,695	\$	50.	0	\$ NO	NE
6	Insect, disease, pest, and rodent control.	LS	1	\$	165.00	*As required.	\$	165.00
LAWN	AREAS							
7	Mowing and edging.	100 SF	4	\$	担	34	\$	4,250.00
8	Fertilization.	100 SF	4	\$	-	4	\$	400.00
9	Weed control chemical.	100 SF	4	\$		0	\$ NO	NE
10	Aeration.	100 SF	4	\$		0	\$ NO	NE
11	Dethatching.	100 SF	4	\$		0	\$ NO	NE
GROU	NDCOVER AND SHRUB AREAS	5					•	
12	Inspect, weed, and clean groundcover and shrub beds.	100 SF	1,718	\$	-	26	\$	9,675.00
13	Shrub pruning in NATURAL form.	100 SF	1,718	\$	1.15	2	\$	3,945.00
14	Edging.	LS	1	\$	100.00	12	\$	1,200.0
15	lines sidewalks etc for	LF	2,575	\$	0.18	6	\$	2,850.0
16	Fertilization.	100 SF	1.718	\$	-	0	\$ NO	NE
17	Replace PERENNIAL color plants.	100 SF	14	\$	-	2	\$	11,350.0

TEM No.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	JNIT RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
18	Mulching.	100 SF	1,732	\$	0	\$ NC	ONE
19	Watering of round-a-bouts.	EA	2	\$ 150.00	12	\$	3,600.0
rees							
20	Inspect for damage and/or special needs for safety and health.	LS	1	\$ 50.00	12	\$	600.0
21	Pruning for pedestrian / vehicle clearances.	LS	1	\$ 206.25	12	\$	2,475.0
22	Maintain tree wells, including weeding, mulching or amendment to prevent pedestrian	LS	1	\$ 150.00	6	\$	900.0
23	Inspect and adjust tree stakes, ties and guys.	LS	I	\$	0	\$ NC	ONE
24	Fertilization.	LS	1		4	\$ NC	ONE
	Watering	EA	59	\$ 4.75	20	\$	5,600.0
RRIGA	TION SYSTEMS						
26	Operate, inspect, repair, and adjust/program the irrigation system to meet needs.	1000 SF	221	\$ 2.46	12	\$	6,528.0
	Probe for soil water content and	1000					
27	adjust irrigation systems to meet- seasonal needs.	SF	221	\$	0	\$ NC	DNE
28	Irrigation system audit.	1000 SF	221	\$	0	\$ NC	ONE
ITE A	MENTIES						
OTAL	AMOUNT COST BREAKDOWN	IN FIGU	RES			\$	65,375.0

^{*}For multiplication purposes, treat as (1).

cents

ITEM	1		ESTIMATED	 NIT	ANNULAT	_	ANNUTAL
NO.	DESCRIPTION	UNIT	QUANTITY	RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
GENE	RAL MAINTENANCE			ilai.			7
1	Facility inspection by Contractor's supervisor or account manager, visual / operational.	LS	ĵ	\$ 13.46	26	\$	350.00
	Walk through inspection with City representative and owner or						
2	account manager,	LS	1	\$ 29.17	12	\$	350.00
3	Paved sidewalks, walkways, undeveloped shoulders and parkways, medians, pathways, and curb and gutter cleanup, weed control, and litter removal.	100 SF	2,022	\$ 0.02	40	\$	1,850.00
4	Litter, mulching (as needed), weeding.	100 SF	4,695	\$	0	\$ NO	NE
5	Insect, disease, pest, and rodent control.	LS	1	\$ 165.00	*As required.	\$	165.00
LAWN	AREAS						
	Mowing and edging.	100 SF	10	\$ 10.15	34	\$	3,450.00
6	Fertilization.	100 SF	0	Ø.	0	\$ NO	NE
7	Weed control chemical.	100 SF	0	\$ 	0	\$ NO	NE
8	Aeration.	100 SF	0	\$	0	\$ NO	NE
9	Dethatching.	100 SF	0	\$	0	\$ NO	NE
GROUI	NDCOVER AND SHRUB AREAS						
10	Inspect, weed, and clean groundcover and shrub beds.	100 SF	1,718	\$ 0.03	52	\$	2,650.00
11	Shrub pruning in natural form.	100 SF	1,718	\$ 0.16	2	\$	550.00
12	Edging.	LS	1	\$ 16.67	12	\$	200.00
13	Hedge trimming along fence lines, sidewalks, etc.	LF	2,575	\$ 0.07	4	\$	750.00
14	Fertilization.	100 SF	1,718		4	\$ NO	NE
15	Replace PERENNIAL color plants.	100 SF	14	\$ 405.36	2	\$	11,350.00
16	Mulching.	LS	1	\$ 15.00	2	\$	30.00
	Watering of round-a-bouts.	EA	- 0	\$	0	\$ NO	NE
REES							
18	Inspect for damage and/or special needs for safety and health.	LS	ľ	\$ 8.33	12	\$	100.00

TEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	NIT RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
19	Pruning for pedestrian / vehicle clearances.	LS	1	\$ 70.83	12	\$	850.00
	Maintain tree wells, including weeding, mulching or amendment leveling to prevent						
20	pedestrian injuries.	LS	1	\$ 20.83	12	\$	250.00
21	Inspect and adjust tree stakes, ties and guys.	LS	1	\$ 20.83	12	\$	250.00
22	Fertilization.	LS	1	\$	0	\$ NONE	
23	Watering	LS	1	\$	156	\$ NO	NE
RRIGA	ATION SYSTEMS						
	Operate, inspect, repair, and adjust/program irrigation systems to meet season needs and for full coverage of						
	landscape area.	1000					
24		SF	221	\$ 0.34	26	\$	1,950.0
25	adjust irrigation systems to meet	1000 SF	221	\$	0	\$ NO	NE
26	Irrigation system audit.	1000 SF	221	\$ -	2	\$ _	12
ITE A	MENTIES						
OTAL	AMOUNT COST BREAKDOWN	IN FIGU	RES			\$	25,095.00

^{*}For multiplication purposes, treat as (1)

AREA #1 PUBLIC WORKS LANDSCAPE MAINTENANCE – MALIBU CANYON		AMOUNT
ZONE 1 – MALIBU CANYON (Map Page 1)	\$	65,375.00
ZONE 2 – MALIBU CANYON (Map Page 2)	\$	25,095.00
TOTAL PRICE AMOUNT BREAKDOWN IN FIGURES	\$	90,470.00
TOTAL PRICE AMOUNT BREAKDOWN IN W		
Ninety Thousand, Four Hundred Seventy dollars and	00 cents	
Ninety Thousand, Four Hundred Seventy dollars and		

NAME OF LANDSCAPE MAINTENANCE FIRM **Newbury Park Tree Service, Inc.**

CONTRACTOR'S LICENSE NUMBER: 697817

AUTHORIZED SIGNATURE:

TITLE: President

PUE	BLIC WORKS LANDSCAPE MA	INTENA	ANCE AREA #2 S PARKWAY ARI			IANS, CERTAIN S	IDEWALKS, &
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	П	UNIT	ANNUAL FREQUENCY	ANNUAL AMOUNT
GENER	RAL MAINTENANCE						
1	Facility inspection by Contractor's supervisor or account manager, visual / operational.	LS	I	\$	85.00	26	\$ 2,210.00
2	Walk through inspection with City representative.	LS)1	\$	85.00	12	\$ 1,020.00
3	Paved sidewalks, walkways, undeveloped shoulders and parkways, medians, pathways, and curb and gutter cleanup, weed control, and litter removal.	LS	1	\$	(3)	40	\$ - \$ 22,160.00 \$ -
4	Doggy Dispenser Service and Trash Can Service (7) locations.	LS	7	\$	5.00	52	\$ 1,820.00
5	Litter, mulching (as needed), weeding.	100 SF	0	\$		0	\$ NONE
6	Insect, disease, pest, and rodent control.	LS	1	\$	165.00	*As required.	\$ 165.00
LAWN	AREAS						
	Mowing and edging.	100 SF	475	\$	2.45	34	\$ 39,640.00
7	Fertilization.	100 SF	475	\$	2.06	3	\$ 2,940.00
8	Weed control chemical.	100 SF	0	\$		0	\$ NONE
9	Aeration.	100 SF	0	\$		0	\$ NONE
	Dethatching.	100 . SF	0	\$		o*: 0	\$ NONE
GROUN	DCOVER AND SHRUB AREAS	3					
	Inspect, weed entire area, remove all trash, and clean groundcover	100					
11	and shrub beds	SF	35	\$	38.84	26	\$ 35,340.00
12	Shrub pruning in NATURAL form.	100 SF	35		69.77	4	\$ 9,768.00
13	Edging.	LS	1	\$	312.50	12	\$ 3,750.00
141	Hedge trimming along fence lines, sidewalks, etc.	LF	10,000	\$	0.20	4	\$ 7,930.00
15	Fertilization.	100 SF	0	\$		0	\$ NONE
16	Replace PERENNIAL color plants.	100 SF	16	\$	383.50	4	\$ 24,544.00

EM O.	DESCRIPTION	UNIT	ESTIMATED QUANTITY		NIT RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
17	Mulching.	100 SF	0	\$		0	\$ NO	ONE
	Watering of round-a-bouts.	EA	5	\$	67.20	60	\$	20,160.0
REES			P	_			_	
19	Inspect for damage and/or special needs for safety and health.	LS	a	\$	220.00	12	\$	2,640.0
20	Pruning for pedestrian / vehicle clearances.	LS	I	\$	720.83	12	\$	8,650.0
21	Maintain tree wells, including weeding, mulching or amendment leveling to prevent pedestrian injuries.	LS	1	\$	237.50	12	\$	2,850.0
22	Inspect and adjust tree stakes, ties and guys.	LS	1	\$	79.17	12	\$	950.0
	Fertilization.	LS	0			0	\$ NO	
	Watering	LS	0	\$		0	\$ NO	ONE
RRIGA	TION SYSTEMS	1.						
25	Operate, inspect, repair, and adjust/program irrigation systems to meet seasonal needs. Report issues to city staff.	1000 SF	221	\$	3.09	26	\$	17,750.0
26	adjust irrigation systems to meet	1000 SF	0	\$		0	\$ NO	ONE_
27	Irrigation system audit.	1000 SF	0	\$		0	\$ NO	ONE

TOTAL AMOUNT COST BREAKDOWN IN WORDS: Two Hundred Four Thousand, Two Hundred Eight Seven dollars and 00 cents

^{*}For multiplication purposes, treat as (1).

AREA #2 PUBLIC WORKDS LANDSCAPE MAINTENANCE – MISCELLANOUS SITES	AMO	UNT
AGOURA-MALIBU HILLS/LAS VIRGENES- MULHOLLAND/LOST HILLS- LAS VIRGENES		21
(Map Pages 3-5)		
VALMAR RD./OLD TOPANGA CANYON/OLD TOPANGA-GREEN STREET		
(Map Pages 6-6C)	 	204,287.00
MULWOOD/LAS VIRGENES- EDDINGHAM/MULHOLLAND HIGHWAY (Map Pages 7-12)	, and the second	207,207.00
TOTAL PRICE AMOUNT BREAKDOWN IN FIGURES	\$	204,287.00
TOTAL AMOUNT BREAKDOWN IN WORDS:	•	15
Two Hundred Four Thousand, Two Hundred Eighty Seve	n dollars and 00 cents	S

NAME OF LANDSCAPE MAINTENANCE FIRM **Newbury Park Tree Service, Inc.**

CONTRACTOR'S LICENSE NUMBER: 697817

AUTHORIZED SIGNATURE:

TITLE: President

	PUBLIC V	VORKS A	AREA #3 FREEW	'AY	INTERCH	ANGES		
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY		INIT RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
GENE	RAL MAINTENANCE							
1	Facility inspection by Contractor's supervisor or account manager, visual / operational.	LS	1	\$	85.00	26	\$	2,210.00
2	Walk through inspection with City representative and owner or account manager.	LS	1	\$	85.00	12	\$	1,020.00
	Paved sidewalks, walkways, undeveloped shoulders and parkways, medians, pathways, and curb and gutter cleanup, weed control, and litter removal.	100						
3	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		60	_	2.02	26		4.560.00
4	Litter-trash removal and weeding along edge of curb.	SF 100 SF	2,026		2.92 0.37	26 26	\$	4,560.00 19,480.00
5	Insect, disease, pest, and rodent control.	LS	1	\$	165.00	*As required.	\$	165.00
GROUI	NDCOVER AND SHRUB AREAS						•	
6	Inspect, weed, and clean groundcover and shrub beds.	100 SF	1,403	\$	0.30	52	\$	21,885.00
7	Shrub pruning in NATURAL form.	100 SF	1,403	\$	3.52	2	\$	9,865.00
8	Edging.	LS	1	\$	380.42	12	\$	4,565.00
9	Fertilization.	100 SF	1,403	\$	1.97	2	\$	5,520.00
#	Replenish DG Areas	100 SF	30	\$	50.00	2	\$	3,000.00
TREES								
- 44	Inspect for damage and/or special needs for safety and health.	LS	170	\$	1.94	12	\$	3,960.00
#	Remove all trash and debris from tree basin.	LS	170	\$	1.68	12	\$	3,435.00
#	Maintain tree wells, including weeding, and leveling.	LS	170	\$	0.97	12	\$	1,980.00
#	Inspect and adjust tree stakes, ties and guys.	LS	170		0.97	12	\$	1,980.00
- 44	Fertilization.	LS	170			0	\$ NO	ONE
IRRIGA	ATION SYSTEMS & SITE AME	NTIES &	ON/OFF RAMP	TRA	SH PICK	UP		
# # #	Operate, inspect, repair, and adjust/program irrigation systems to meet seasonal needs and coverage.	1000	141	\$	6.40	26	\$	23,465.00
	From for son water content and	SF					ļ	
#	adjust irrigation systems to meet	1000 SF	0	\$		0	\$ NO	ONE

	PUBLIC W	ORKS	AREA #3 FREEV	VAY INTERC	HANGES		
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
18	Irrigation system audit.	1000 SF	0	\$	0	\$ NO	ONE
	Gazebo inspection and cleaning at Las Virgenes Creek. Cleaning spray and wipe down gazebo. Remove cob-webs etc.					\$	3,600.00
19	South -End and North End of Las Virgenes Creek.	EA	2	\$ 150.00	12		
20	Clean and wipe down informational boards	LS	1	\$ 125.00		\$	750.00
21	Trash receptacle emptying and cleaning at Las Virgenes Creek & Tech Center Bridge (4) locations.	EA	1	\$ 7.81	96	\$	1,920.00
	Walking trail, weeding, grading, filling in holes, and trash-litter					\$	2,100.00
	pickup. Walking On/Off ramps and removal of ALL trash/debris clean-up. (3-Interchanges)	LS	1	\$ -	52	\$	7,350.00
	AL MAINTENANCE						
TOTAL .	AMOUNT COST BREAKDOWN	IN FIGU	IRES			\$	122,810.00

TOTAL AMOUNT COST BREAKDOWN IN WORDS _: One Hundred Twenty Two Thousand, Eight Hundred Ten dollars and 00 cents

^{*}For multiplication purposes, treat as (1).

AREA #3		
PUBLIC WORKS LANDSCAPE MAINTENANCE		
FREEWAY		
INTERCHANGES		AMOUNT
LAS VIRGENES NORTH & LAS VIRGENES SOUTH		
(Map Pages 13-14B)		
PARKWAY CALABASAS INTERCHANGE		
(Map Pages 15-16)	\$	122,810.00
LOST HILLS INTERCHANGE		
(Map Page 16B)		
TOTAL PRICE AMOUNT BREAKDOWN IN FIGURES	\$	122,810.00
TOTAL PRICE AMOUNT BREAKDOWN IN WORDS:		
One Hundred Twenty Two Thousand, Eight Hundred Ten dollars	and 00 cents	

NAME OF LANDSCAPE MAINTENANCE FIRM Newbury Park Tree Service, Inc.

CONTRACTOR'S LICENSE NUMBER: 697817

AUTHORIZED SIGNATURE: (Ale A. Lipe

TITLE: President

ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY		NIT RICE	ANNUAL FREQUENCY		ANNUAL AMOUNT
	RAL MAINTENANCE		QUANTITI		RICE	FREQUENCT	1	AWOUNT
i	Facility inspection by Contractor's owner, supervisor or account manager, visual / operational.	LS	1	\$	87.50	26	\$	2,275.00
2	Walk through inspection with City representative and account manager	LS	1	\$	87.50	12	\$	1,050.00
	Paved sidewalks, walkways, undeveloped shoulders and parkways, medians, pathways, and curb and gutter cleanup, weed control, and litter removal.	100						
3	Tomoral.		60	ر ا	5.61	26		0.752.00
4	Litter-trash removal and weeding along edge of sidewalk and curb.	SF 100 SF	2.026		0.22	26 26	\$	8,752.00 11,474.00
5	Insect, disease, pest, and rodent control.	LS	1		165	*As required.	\$	165.00
GROU	NDCOVER AND SHRUB AREAS	S						
	Inspect, weed entire planters, and clean groundcover and shrub	100						
6	beds.	SF	1.403	\$	0.53	26	\$	19,474.00
7	Shrub pruning in NATURAL form.	100 SF	1,403	\$	1.88	2	\$	5,285.00
8	Edging.	LS	l	\$	204.17	12	\$	2,450.00
9	Fertilization.	100 SF	1,403	\$		0	\$ NC	NE
#	Mulching.	100 SF	1,403	\$	5.46	-2	\$	15,326.00
TREES							_	
#	Inspect for damage and/or special needs for safety and health.	EA				12	\$	600.00
#	Pruning for pedestrian / vehicle clearances.	EA				12	\$	3,850.00
	Maintain tree wells, including weeding, mulching and or amendment to prevent pedestrian							
#	injuries.	EA				12	\$	1,895.00
##	Inspect and adjust tree stakes, ties, guy-wires and watering bags.	EA	Ą			12	\$	1,250.00
-#	Fertilization.	EA		\$		0	\$ NC	NE
RRIGA	ATION SYSTEMS							
##	Operate, inspect, repair, and adjust/program irrigation systems for seasonal needs.	1000 SF	141	e e	1.87	26	\$	6,845.00

TEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	ANNUAL FREQUENCY	ANNUAL AMOUNT
17	adjust irrigation systems to meet	1000 SF	141	\$	0	\$ NONE
- 18	Irrigation system audit.	1000 SF	141	\$	0	\$ NONE

TOTAL AMOUNT COST BREAKDOWN IN WORDS: Eighty Thousand, Six Hundred Ninety One dollars and 00 cents

^{*}For multiplication purposes, treat as (1).

AREA #4 PUBLIC WORKS LANDSCAPE LAS VIRGENES RD. SOUTH OF 101 FREEWAY LAS VIRGENES RD. SOUTH OF 101 FREEWAY	Amount				
(Map Pages 17-18)	\$	80,691.00			
TOTAL PRICE AMOUNT BREAKDOWN IN FIGURES	\$	80,691.00			
TOTAL PRICE AMOUNT BREAKDOWN IN WORDS:					
Eighty Thousand, Six Hundred Ninety One dollars and 00 cents					

NAME OF LANDSCAPE MAINTENANCE FIRM **Newbury Park Tree Service, Inc.**

CONTRACTOR'S LICENSE NUMBER: 697817

AUTHORIZED SIGNATURE

TITLE: President

LANDSCAPE MAINTENANCE OF PUBLIC WORKS STREEET MEDIANS AND CERTAIN SIDEWALK AND PARKWAY AREAS WITHIN THE CITY OF CALABASAS

IN THE CITY OF CALABASAS, CALIFORNIA

The Contractor shall be responsible for calculating and providing unit prices for the schedule. The proposal schedule shall include all costs for services, labor, materials, equipment, and installation associated in completing the work in place per the Specifications and details.

The specific unit prices shall govern if there is a mathematical discrepancy in the figures. The Bidder must notify the Agency prior to any award of contract, of any difference between the estimated quantities and equal quantities.

The Agency reserves the right to increase or decrease the quantity of any item or omit items as may be deemed necessary due to budget limitations or constraints, and the same shall in no way affect or make void the contract, except that appropriate additions or deductions from the contract total price will be made at the stipulated unit price.

A separate schedule of work and prices is provided because the Agency reserves the right to award this work to either one or more contractors. A bidder may submit a proposal for all or any combination of schedules.

Bid Schedule Total:	\$ 498, 258.00
Bid Schedule Total (in w	Fran Hundred Minetz Eight Thomsand Fifty Eight dollars Jana or Cell
Two Aundrea	Fifty Eight dollars Jana or Ceits

Item No.	Description		Unit Price	Unit	
11	Misc. irrigation system repair parts @ cost plus %				
2	Landscape Irrigation Technician: Hourly Rate:			\$ 85.00	EA
3	Pop-up sprinkler / replace	4"	@	\$ 24.00	EA
		6"	@	\$ 32.00	EA
		12"	@	\$ 36.00	EA
4	Pop-up gear drive sprinkler / replace	4"	(a),	\$ 68.00	EA
		6"	@	\$ 78.00	EA
		12"	(2)	\$ 90.00	EA
5	Fixed shrub sprinkler / replace	4"	(a),	\$ 30.00	EA
		6"	(a)	\$ 40.00	EA
		12"	(a)	\$ 90.00	EA
6	Fixed shrub gear driven sprinkler / replace	4"	@	\$ 30.00	EA
		6"	(a),	\$ 45.00	EA
		12"	(a)	\$ 90.00	EA
7	Automatic sprinkler valve / replace	3/4"	@	\$ 275.00	EA
		1"	(a)	\$ 390.00	EA
		11/2"	@	\$ 495.00	EA
		2"	@	\$ 650.00	EA
8	1-gal. shrub/perennial install	-	(a),	\$ 35.00	EA
9	2-gal. shrub/perennial install		(a),	\$ 45.00	EA
10	5-gal. shrub/perennial install	+	@	\$ 55.00	EA
11	5-gal tree in place (stakes incl.)	+	@	\$ 75.00	EA
12	15 gal. Tree in place (stakes incl.)	+	(A)	\$ 185.00	EA
13	24" box tree in place (stakes incl.)	+	(a)	\$ 415.00	EA
14	36" box tree in place (stakes, incl.)	+	(a)	\$ 925.00	EA
15	48" box tree in place (stakes, incl.)	+	(a)	\$ 1,825.00	EA
16	Hand watering of tree well	+	@	\$ 20.00	EA
17	Flat of ground cover install	+	@	\$ 36.00	EA
18	4" pot annual color	+	@	\$ 39.00	EA
19	Planter bed mulch in place	+	@	\$ 80.00	/Cubic Yard
20	Turf renovation (incl. de-thatch, over seed, top dress)		@		/1,000 Sq. Ft.
21	Turf aeration	+	(a)	\$ 85.00	/1,000 Sq. Ft.
22	Additional labor	_	@		/Manhour
23	Additional supervisor	+	@		/Manhour
24	Additional mowing	_	@		/100 Sq. Ft.
25	Sod installation	+	@		SF
26	Seed installation	+-	@		SF
27	Fertilization (shrub bed & turf)	+	@	\$ 775.00	AS/Acre
28	Soil test and analysis	+	@	\$ 275.00	Unit
29	Plant tissue analysis	-	@	\$ 275.00	Unit
30	Plant pathology test	+	@	\$ 273.00	Unit
31	Backflow prevention device inspection	+-	(a)	\$ 500.00	Unit
32	Pesticide application on trees for disease control		@	\$ 175.00	EA
33	Landscape Design Services	_	@	\$ 225.00	Hour
34	Submit disease/pest control records to county agricultural commissioner		@		Per occurrence
35		+		0 20000	10.000 C F:
33	Insect, disease and rodent control		@	\$ 360.00	10,000 Sq. Ft.

⁾ complete the unit price column as part of the RFQ submittal.